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. Punnett Square Worksheet 2 (Dihybrid Crosses & Blood Typing)

- You are tracking plant height and flower color in a group of plants. Tall (T) is dominant to short (t) and purple (P) is
dominant to white (p). If you cross a plant heterozygous for both traits with a plant homozygous recessive for height
and heterozygous for flower color, what will the predicted genotypic and phenotypic ratios

first generation? I~
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2. Suppose a white, straight haired guinea pig mates with a brown, curly-haired guinea pig. All ten offspring-
litter have brown fur, but three are curly and two have straight hair. The second litter consists of twelve more brown
offspring, where t\% are curly and folr are straight haired. Use B/b for hair color and T/t for hair type.

Bonun b bre 5 B Be A
C)/ C)\"( \\]) e =1 —%’\\_Axo\‘(\’ﬁou:%\&-c&&%ﬂ ce .%\O\C‘C

Lo e vc X reCe b“C%BCC%\OCL @9\&0%0\64‘
LERRAU \owg%xg&:%\occ%\w@ow
oA B R Bore

AL\ ped
a. Assuming curly hair is dominant to straight hair, what are the genotypes of the parents?
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b. What is the probability of these parents having an offspring with straight, brown hair AND an offspring
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with curly, white hair? Show your work.
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3. Fillin the blood type table then answer the questions below
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Can a person with type B+ blood receive B+ red blood cells? f I 8

Can a person with O+ blood receive A- red blood cells? Y @ —7 @ '

Can a person with AB- blood receive O+ red blood cells? E @/Rk )
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4. In her biology class, Reagan completed a blood typing lab. She observed that her blood clu en she added
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Can a person with type A+ blood receive O+ red blood cells?

Anti-Rh, but not when she added Anti-A or Anti-B. Based on these observations, what is Reagan's blood type?

O+

3. Rh+ is dominant to Rh-. A mother heterozygous for the Rh antigen gene and a father who is Rh- have a child. What is

the probability that this child will be Rh+? Draw a Punnett square to help you answer.
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ild. What are the possible genotypes of this child?
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-. Draw a Punnett square to determine their children’s
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6. Explain why it is dangerous for a Rh- mother to have an Rh+ child.
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7. A mother with the genotype AQ;+ and a father with the genotype OO-- have four children. Predict the possible

genotypes and phenotypes of their offspring. @\M
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8. An A+ mother and an AB+ father have six children. One of their children is AO--. What is the genotype of the moth
What is the genotype of the father? Explain.
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